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Answer Key & Worked Solutions 

Tao Nan Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

2 3 1 1 4 2 3 3 2 3 

Q11 Q12 Q13 Q14 Q15 

2 2 4 1 4 

Q16) 58 Q17) 1.017 kg 
Q18) 3

5
12

Q19) 3a + 2 Q20) 270 ° 

Q21) $5.00 
Q22) 

1
14

Q23) $300 Q24) 31.4 cm Q25) 5 cm2

Q26) 1 h 30 
min 

Q27) 
8
33

Q28) 0.5 kg Q29) 96 min Q30) PR = 8 cm

Paper 2 

Q1. 120 ÷ 3 = 40 
120 ÷ 4 = 30 
30 + 40 = 70 
120 – 70 = 50 pears 

Q2. 60 – 36 = 24 
24 : 36 
2 : 3 

Q3. (a) 19 kg 400 g

(b) 
13
16

Q4. 4p – p – 1 = 3p – 1 


3p-1

 2
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Q5. (a) West
(b)
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. a)

∠AOC = 132 – 90 = 42°

∠y = 180 – 42 = 138°

b)

∠z = 180 – 138 = 42°

Ans:  (a) 138° 

(b) 42°

7. Let radius = r

Base = height = 2r

r + 2r = 60

3r = 60

r = 60 ÷ 3 = 20 cm

Area of triangle =
1
2

 x 2 x 20 x 2 x 20 = 800 cm2 

Ans:  800 cm2 
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8. Let 2u = cost per kg of peaches

Cost per kg of cherries = 3u

Total cost = 2.5 x 3u + 3 x 2u = 54

13.5u = 54

u = 54 ÷ 13.5 = 4

Cost of 1 kg of peaches = 2u = 2 x 8 = $8 

Ans:  $8 

9. 17%  34

1%  2

Number of girls  100%

Number of boys  83%

Total  183%

183%  2 x 183 = 366

Total number of children = 366

Ans:  366 
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10. Length = breadth = height of cube = 6 cm

Volume of blue cube = 6 x 6 x 6 = 216 cm3

Ans:  216 cm3 

11. a)

Price difference = 2.50 + 2 = $4.50

Price difference in percent = 20 – 15 = 5%

5%  4.50

1%  0.90

100%  $90

b)

Price of 20% discounted black shoes = 90 x 0.8 = $72

Amount Jerry had at first = 72 + 2 = $74

Ans:   (a) $90 

(b) $74
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12. a)

∠SRV = RSV = 180 – 115 = 65°

∠WRS = (180 – 110) ÷ 2 = 35°

∠a = 65 – 35 = 30°

b)

∠STV = 40°

∠b = 180 – 115 – 40 = 25°

Ans:   (a)  30° 
(b) 25°

13. Radius = 13 cm

Area of quad circle = 
1
4
 x 3.14 x 13 x 13 = 132.66 cm2 

Area of Quad crescent = small square – quad circle 
= 13 x 13 – 132.66 = 36.33 cm2 

Area of triangle = 
1
2
 x 26 x 26 = 338 cm2 

Shaded area = 26 x 26 – 338 – 36.33 – 36.33 = 265.33 cm2 

Ans:   265.33 cm2 
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14. a)

1 year later

Weight of Beth & Cally & original Amy’s weight = 115 + 15 – 5 = 125 kg

Let Cally’s weight = c

Beth’s weight = 2c

Original Amy’s weight = 2c

5c = 125

c = Cally’s weight = 25 kg

Beth’s weight = 2c = 25 x 2 = 50 kg

Beth’s original weight = 50 – 15 = 35 kg

b)

1 year later

Amy’s weight = 50 x 2 = 100

Total weight = 25 + 50 + 100 = 175 kg

Average weight = 175 ÷ 3 = 58.33 kg ≈ 58 kg

Ans:  (a) 35kg 

(b) 58 kg

15. a)

Donation of Company E = 100 x 100 ÷ 2 = $5000

b)

Company D

c)

Total of company A,B, C and D = (70 + 100 + 90 + 120) x 100 = $38 000

Average = 38 000 ÷ 4 = $9 500

Ans:  (a) $5000 
(b) Company D
(c) $9 500
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16. a)
i) Water in Tank B = 11 x 4 = 44 ℓ
ii) height of Tank B = 44 000 ÷ 2000 = 22 cm
Volume of water in Tank B = 44 000 cm3

b) 
Original volume of Tank A = 1500 x 15 = 22 500 cm3 

Total volume = 44 000 + 22 500 = 66 500 cm3 
Total area = 1500 + 2000 = 3500 
Height at end = 66 500 ÷ 3500 
=  19 cm 

Increase in height = 19 – 15 cm = 4 cm 

Ans:   (a)  i) 44 ℓ

ii) 22 cm

(b) 4 cm



P6 Maths SA1 2018 Answer Key & Worked Solutions – Tao Nan 

www.sgtestpaper.com 9 

17. a)

diameter = 14 cm

Number of quadrants = 6

Perimeter of 6 quadrants = 
22
7

 x 14 x 6 ÷ 4 = 66 cm 

Perimeter of figure = 66 + 14 = 80 cm 

b) 

Length of 10 figures = 80 x 10 = 800 cm = 8 m 

Number of rolls = 8 ÷ 2 = 4 rolls 

Ans:  (a) 80 cm 

(b) 4 rolls




